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o Please check that this question paper contains 16 printed pages.

o Code number given on the right hand side of the question paper should be written
on the title page of the answer-book by the candidate.

o Please check that this question paper contains 36 questions.

o Please write down the Serial Number of the question before attempting
it.

° 15 minute time has been allotted to read this question paper. The question paper
will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will
read the question paper only and will not write any answer on the answer-book
during this period.
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() 39 Y GT B S G, 9T SR 9T, F aier 7 &1 3r9en! <4l 9Eil & gl & ST o
gl

(i) gt gv7 fard &1

(iii) T T UF H [t g7 F I 997 I T8l &

(iv) STTTH! 97T 37 SR 971 T & Gl G971 & IR JIF-J9F YT & SMYR R 7@ & |

(v) NI 3 % 97 Q&I 1 G 3 §97 UH-Udh 3 & 8/ 39% SR U Isg 7a U a4 5/

(vi) ST 37 & J97 G&T4 T 6 & J97 G-51 Sl & &/ F79 IR T 30 I § a7 &/

(vii) 4T 3 % J99 Q&7 T 18 & F¥7 di7-d17 37l & &1 3799 I TT9T 50 I3l 7 a1 &1

(viii) Y77 37 & 599 G&AT 19 T 24 ¥ F97 G- HHl & &1 579 S/ 197 70 =5 4 a4 &1

(ix) ST & & J97 Q&I 25 G 33 F F¥7 FANNHSF HI¥IcT T SN Tglashed 597 &1 TP 97
TF 37 FT &1 3T T¢ 9R fasweql & @ 79 Fael U Gad 39T 9y 77 &1

(x) YT T F F97 G 34 T 36 F F97 FIITcHF HIVIcT T TR -3 SH & F97 &1 579 S
gftra 4 &7 &1

General Instructions :

(1)  The question paper comprises two Sections, A and B. You are to attempt both the sections.
(it) All questions are compulsory.

(iti) There is no choice in any of the questions.

(iv) All questions of Section A and all questions of Section B are to be attempted separately.

(v) Question numbers 1 to 3 in Section A are one-mark questions. These are to be answered
in one word or in one sentence.

(vi) Question numbers 4 to 6 in Section A are two-marks questions. These are to be answered
in about 30 words each.

(vii) Question numbers 7 to 18 Section A are three-marks questions. These are to be answered
in about 50 words each.

(viit) Question numbers 19 to 24 in Section A are five-marks questions. These are to be
answered in about 70 words each.

(ix) Question numbers 25 to 33 in Section B are multiple choice questions based on practical
skills. Each question is a one-mark question. You are to select one most appropriate
response out of the four provided to you.

(x) Question numbers 34 to 36 in Section B are two-marks questions based on practical skills.
These are to be answered in brief.
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HOT - A
SECTION - A

o

1. Y TehiEd & AW IR e fafae foms o) # 9 Free we ¥ |

Write the name and structure of an alcohol with three carbon atoms in its
molecule.

2. T T T DIy TRIFH TR T HIH! w1 & Sl & 2 1

What happens when a mature spirogyra filament attains considerable
length ?

3. ISF WA i &fq fa=ar @1 fawg g1 =412 1

The depletion of ozone layer is a cause of concern. Why ?

4. OR ufgdl o1 Ao § ST 2 arel <dur @1 AW fafew 39 Jfa grisew 2

a9 f7E YRR 9T foman S €, SUh! S hifaig |

Name the type of mirrors used in the design of solar furnaces. Explain how
high temperature is achieved by this device.

5. ‘‘TaUehl eI’ T AT? 3H ST 9 3Td: TN A 3R UIieRul Rl 2
forg YRR MY g3 ?

“What was Chipko Andolan” ? How did this Andolan ultimately benefit the
local people and the environment ?

6. ‘'SiamTem g ®I T | dfvas I a1 71’ 39 FUd & gfe o fag wRo 2
e

“Burning of fossil fuels results in global warming”. Give reasons to justify this
statement.
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T T &l fAeAfafed & g Afufeen & e g ST .
(a) TIfead; (b) GIfsaH TESIHES ; (¢) TIATA

gdeh ATIfRaT # o TH@ 3 1 AW ot fafaw

Write chemical equation of the reaction of ethanoic acid with the following :

(a) Sodium; (b) Sodium hydroxide; (¢) Ethanol.
Write the name of one main product of each reaction.

frelt Tfeeee oIk fodll ieH M1 &1 ¥9H 319 g3, 9 C,H,0 g1 e
fordl ST Wehal ©1 3! HEATT 3R 9M fafaw) fogm & o & 39 91 &
= & GaY T 3eei@ HITT |

An aldehyde as well as a ketone can be represented by the same molecular

formula, say C3HgO. Write their structures and name them. State the relation
between the two in the language of science.

FE T X MYE Mad AROT & d oTed 2R 16 9 wqg H feerd €

(2) X H GANThal el i T&AT a1 SHh! GaASTehdl fHd Hifsa |

(b) X’ I FEESM & WY AIfehan gR1 a7 ATk o1 o77] ¥ fafaw qen soent
s M-fag, |1 Eifeu |

© @ X #1 W fafEu qon eer@ ST fh I8 9 o1g © S19a 36T ©

An element ‘X’ belongs to 3'd period and group 16 of the Modern Periodic

Table.

(a) Determine the number of valence electrons and the valency of ‘X’
(b) Molecular formula of the compound when X’ reacts with hydrogen and

write its electron dot structure.
(¢ Name the element X’ and state whether it is metallic or non-metallic.

el 9@ X’ H TAHE WA 35 AT THH 2 B WA 18 ¥ 1 X’ Tl AT
&A1 3R RIS - T fafaw | X ! 998 €&, 36 9@l AR Farsehal

1 Ieoi@ ot ifST |

An element X’ has mass number 35 and number of neutrons 18. Write atomic
number and electronic configuration of X’. Also write group number, period
number and valency of X’.
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11. S &1 gy fafee | wfieist ) gafe & il 9e[ #3634 98 ffg g 3
HEMEAl Hidl § 2

Define reproduction. How does it help in providing stability to the population
of species ?

12. Siel % S % Ged H ST B 9 U8 ' gaeeWed’ (IASA) Wi sAted 3
HINT | F&g § v w6 gEel 99 o ®ifves Sial § ' qaegyad’ &t

o o N0
Alshdl Tond HonlX HHq2l =ldl %7

Explain the term “Regeneration” as used in relation to reproduction of
organisms. Describe briefly how regeneration is carried out in multicellular
organisms like Hydra.

13. (a) TR S99 R Sco Hafa ¥ fafiear gfieier 9 & < #Rol &t 9=t 3
ERIEL

() 3R@ H Afha 9 ‘A’ 1 9W fafaw)

() ‘A’ UM B q% fRT YR Uge ¢ ?

(iii) W ‘C’ 1 Heg faf@y |
(v) ‘D’ gr 3ifera wm w1 f8=H & yv=a o Bl § 2
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(a) List two reasons for the appearance of variations among the progeny
formed by sexual reproduction.

(1) Name the part marked ‘A’ in the diagram.
(1)) How does ‘A’ reaches part ‘B’ ?
(1) State the importance of the part ‘C’.

(iv) What happens to the part marked ‘D’ after fertilisation is over ?

14. Hed A FAN R {9 YR @i & oefor s €9 9 S o © 2 3

How do Mendel’s experiment show that traits are inherited independently ?

15. ‘T & Qe A’ o i’ WER 9@ ¥ 39 wud &) qfie 3
HITSTT |

“Two areas of study namely ‘evolution’ and ‘classification’ are interlinked”.
Justify this statement.

16. Tordl gdu gry o1 gfdfers, ardfae, Seel 3iR—1 omads 1 §1 4fe gfafewsr 3
1 YU T 40 em T, A fora sl feorg 82 afe foa & gdw 1 3R 20 em
ARG X fgar e, o gfafers sel avm? o7 S 6t gfe & fag ro
gifse den foa ot =3 frorfa & faw fowor s difaw |
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The image of an object formed by a mirror is real, inverted and is of
magnification — 1. If the image is at a distance of 40 cm from the mirror, where
is the object placed ? Where would the image be if the object is moved 20 cm
towards the mirror ? State reason and also draw ray diagram for the new
position of the object to justify your answer.

17. 98 <A & fau fedt fearpam &1 9uiF hitse 6 79 9R o 7 gra 3
forarfed void Uh¥T ol 31 Heiaw fUsH g0 qaifsd &tk I 39d TR I
e ST WehdT T ¥9d TR & TagH & TAASH 6l R0 & faw e s
i Eifaw|

Describe an activity to show that the colours of white light splitted by a glass

prism can be recombined to get white light by another identical glass prism.
Also draw ray diagram to show the recombination of the spectrum of white
light.

18. A % ToRamhadl ¥ Sia HUSH o Sitd ®4l &l o e ° gvifad fean | AFa 3
BN Yhfd & T S A Sa-Hved & Sia UG oT5d 37addl & Gogvid
Tqe & - W fear T wHa 5 W giva yfdea uRfeafai 9 9
Fad IHHT AT IW STl Hhl AADN §, Aok Yool o THL Siral i o
AARRT T | IR Teh TEUR! SNl Ik Tkl o ‘Sl e’ 1 Wihd 95 ©
hd % BT B TIieR & Jid STRERT Scae Y W@l €, 997 39 gE | off e
W 8| 98 U9-US™ & THER o =0 & Ak o AT ff F3R w
@2

(a) TH ST TYITEROT T TGI&IU KA1 i AR § ?
(b) TR TRl & g fyer & fau &6 iR el Fe-ufed &1 vea
fafaw |

(¢) Yk 3H WSl g URfd &1 ool shi FEI BT S 9k o &
‘Sl e’ A Wiy 9eH T
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The activities of man had adverse effects on all forms of living organisms in
the biosphere. Unlimited exploitation of nature by man disturbed the delicate
ecological balance between the living and non-living components of the
biosphere. The unfavourable conditions created by man himself threatened
the survival not only of himself but also of the entire living organisms on the
mother earth. One of your classmates is an active member of ‘Eco club’ of your
school which is creating environmental awareness amongst the school students,
spreading the same in the society and also working hard for preventing
environmental degradation of the surroundings.

(a) Why is it necessary to conserve our environment ?

(b) State the importance of green and blue dust-bins in the safe disposal of
the household waste.

(¢) List two values exhibited by your classmate who is an active member of
Eco-club of your school.

19. I3 e Alfew P i 9ig H,S0, & |19 T fohy SH W 58 o= Aifiss 5
‘Q T § S fohe I @i Iufeed H SRS § Yo ik I 9qw
AT ‘R’ ST ©1 ‘R’ 1 Tk Y], T 8 W, FH6A SESAGAES o I 9] qell
S % | 31U IAI T 81 P, Q 3R R &I YeAIHE AR wiHfaq stfufswansti &

(e GHR faf@ue |

A carbon compound ‘P’ on heating with excess conc. H,SO, forms another
carbon compound ‘Q’ which on addition of hydrogen in the presence of nickel
catalyst forms a saturated carbon compound ‘R’. One molecule of ‘R’ on
combustion forms two molecules of carbon dioxide and three molecules of water.
Identify P, Q and R and write chemical equations for the reactions involved.

20. WU R &2 THHR! TWIIAT 1 U Hiferd | Tefedt AT HIST & R0 § 3Tk 5

1Al T 3o HITT |
What is placenta ? Describe its structure. State its functions in case of a

pregnant human female.
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21. fawmg =+t oty fafgw) o€ fog YR 21 €7 o wifse fo oy feg 5
YR fam & gme[ H JH yR[ w1 T 2

Define evolution. How does it occur ? Describe how fossils provide us evidences
in support of evolution.

22. 12 cm WIHH T & tgdcl 4 gN forddt forar w1 wften gfdforrst oM & faw w1 5
TR

() < o wEA for @t g @1 A IR BT =Ifen 2

(i) 4 aren gfafora 9Es § fom @ S A TYe 9817 39 e §
yfafara a1 <9 & fau fotor s difew)

(i) =9 forar =1 gfafeors wel o=, afc 38 <0 & 9mA 24 om W R W@ fea
SM? 3 SW ! e & fou g9 fegfa & foag «ft feeo s @ifem

ST Yol @l § g4, T&F hihd IR dshal s i f&gfadl &l o} WM |

It is desired to obtain an erect image of an object, using concave mirror of focal
length of 12 cm.

(1) What should be the range of distance of an object placed in front of the
mirror ?

(1) Will the image be smaller or larger than the object. Draw ray diagram
to show the formation of image in this case.

(111) Where will the image of this object be, if it is placed 24 cm in front of the
mirror ? Draw ray diagram for this situation also to justify your answer.

Show the positions of pole, principal focus and the centre of curvature in the
above ray diagrams.

23. (a) TICNT o9 o YehIRIH ohg ol TR fafem | 5
(b) Toet STTER &9 & BHE T 20 em T14 cm SAE & Tl fom= =1 39
AH & RV ks 9§ fhadt O W @ S =nfee for g9ent gfafas ow

o

Y 10 cm T W s | Yidfors w1 @t off dRenferd wifSw |
(© W fgfa & fau gfafersr 91 <9 & fhwor oM@ Eifaw |
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(a) Define optical centre of a spherical lens.

(b) A divergent lens has a focal length of 20 cm. At what distance should an
object of height 4 cm from the optical centre of the lens be placed so that
its image is formed 10 cm away from the lens. Find the size of the image
also.

(¢ Draw a ray diagram to show the formation of image in above situation.

VS AYAd F1 B 7 3@ URESA H1 STAN &k Ad < T YThidh
AT i AT HifT -

[ S o

(2) A o1 feAfenm

(b) M FEiea IR faafEa g

AT T o TER & fau g wifgu |

What is atmospheric refraction ? Use this phenomenon to explain the following
natural events.

(a) Twinkling of stars
(b) Advanced sun-rise and delayed sun-set.

Draw diagrams to illustrate your answers.

HT -
SECTION - B

AN o

g BT eIk Afafshan & Afafsran fago &t th 92 9ga il foaens o=
IR T o foeqq o3 W Soar €1 9% 98 &0 il © @

(a) it foaeng o3 § = gfiadd € a1 IR o foem™ 157 9the 81 5 ® |
b) e foeaq o3 § g aRads T8 g IR fen foaeug 1= ot 8 S € |
© -t feeng o3 § #iE ufads &1 21 IR o« foewg ot e & S ® 1
@) T & foreqq o & W1 H &iE gRadd qel el

10
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A student puts a drop of reaction mixture of a saponification reaction first on

a blue litmus paper and then on a red litmus paper. He may observe that :

(a) There is no change in the blue litmus paper and the red litmus paper
turns white.

(b) There is no change in the red litmus paper and the blue litmus paper
turns red.

() There is no change in the blue litmus paper and the red litmus paper
turns blue.

(d) No change in colour is observed in both the litmus papers.

TN § A1 9 & ¢ g6 *18 7d IR HiE &R =Mfel | HEA s-H & fou
T SR R &1 = o T A o G g9y SugE W@ 7

(2) WO H o AR Hfcwan FEglrEs

(b) TRUM &1 dd IR Wiean TRSFAES

© TUE HI qd IR Hifean TESHES

d) TG w1 dd AR Hfeqam TSRS

For preparing soap in the laboratory we require an oil and a base. Which of

the following combinations of an oil and a base would be best suited for the
preparation of soap ?

(a) Castor o1l and calcium hydroxide

(b) Turpentine oil and sodium hydroxide

(¢) Castor oil and sodium hydroxide

(d) Mustard oil and calcium hydroxide

MU foame & TH-98 H WA & AU Aavee #eR Sa IUdey 7@l ¢ |
3ok foemera | Iuctsd ofaull & i< fu 98 4§ 4 9% Tk 998 g Sk
T TS i A I B e W, 98 39 HAR I o1 <

(a) Tifedd FARES, hicTaHd FARES
(b) TP FREs, Hifedd FNEs
© dHifead FaREe, THREE TRES
() Hieaam FiNEs, HHREH FES
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In the neighbourhood of your school, hard water required for an experiment
is not available. Select from the following groups of salts available in your
school, a group each member of which, if dissolved in distilled water, will make
it hard :

(a) Sodium chloride, calcium chloride

(b) Potassium chloride, sodium chloride

(¢) Sodium chloride, magnesium chloride

(d) Calcium chloride, magnesium chloride

TN H HeX o oSl o Y01 1 Y&101 id 999 fopelt B 7 = fou o7{ar
qur o fafses 9T ki Ao A1 o § 1 e |

SISIeRUT, 3T=:held, Helipy, gy, SSUe gR, e |

Y o 1 G&T0 HA Sk 9gErd fers weied A I fewolt i, fof 36 | Fhad
T 9 & T T S g H ¥ w9 sifew

(a) SITSTERUl, AT, SS9 (b) 3T<:herd, HAIRY, SSUE §N

() STas, Jige, Sffsiero d) HAIFR, S, TiHT

A student while observing an embryo of a pea seed in the laboratory listed

various parts of the embryo as given below :

Testa, Tegmen, Radicle, Plumule, Micropyle, Cotyledon.

On examining the list the teacher remarked that only three parts are correct.
Select three correct parts from the above list :

(a) Testa, Radicle, Cotyledon (b) Tegmen, Radicle, Micropyle

(c) Cotyledon, Plumule, Testa (d) Radicle, Cotyledon, Plumule

Ife oAqd = <t Tl Sfesdl § 3 < Aol ok WY Hl I ok A FE S
feRT TEATE GASTE &, o o9 3 9 TR i ?

(@) TSR 3R qei (b) 3T TR STt =t

() 3 R TR (@ Toot &R g

If you are asked to select a group of two vegetables, out of the following, having

homologous structures which one would you select ?

(a) Carrot and radish (b) Potato and sweet potato
(c) Potato and tomato (d) Lady finger and potato
12
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30. foU MU 3rada <0 *i GiAehe wIRT T F@ FH & faw o9 gdw gy feddt 1
Ty o o yfafers fordt o€ W wiwfad w3 €1 9 Ry yiafara fom
I g | T4

(a) TR uftafda iR B e § )

(b) e 3R BT BT R
) e iR BIeT B 2
@) G IR rfus Biel g T

To determine the approximate value of the focal length of a given concave
mirror, you focus the image of a distant object formed by the mirror on a
screen. The image obtained on the screen, as compared to the object is
always :

(a) Laterally inverted and diminished
(b) Inverted and diminished
(¢ Erect and diminished

(d) Erect and highly diminished

31. WM ST SIS GARTRIST bl B o Sy R 7 W&t Hiwerd ol saren &1 1
yfafora 3@ o9 R U8 W wIRfad R foaan €1 e afg s fiee wRiea
IRl P F TRt A WA I T FHARR R0l bl W 9 W HiepfEd
T T GAE <, A1 SIY I STA&T Hi ST © fob o ¢

(a) W I S W S R SR TR |
(b) TF A e W UE F QT TR |
(© o9 & e w g w6t few ¥ wenm |
) G R 9 A Dl gd HI AR T |
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Suppose you have focused on a screen the image of candle flame placed at the
farthest end of the laboratory table using a convex lens. If your teacher
suggests you to focus the parallel rays of the sun, reaching your laboratory
table, on the same screen, what you are expected to do is to move the :

(a) lens slightly towards the screen
(b) lens slightly away from the screen
(¢) lens slightly towards the sun

(d) lens and screen both towards the sun

32. 3T I FAMTeNen H fafym Saas &I (i) & fau ®ig & ©e 9 T a1
JerTel foror 1 9y SRfed wid € 91 YF YR § qEAwyl 3Taad hivl
(~ ) SR T7ld 0T (Le) oft AT T 1 3TTTH YU o YR AR HEl Foand
?fw

@) 98T £r W, T Le T T IR &
(b) /iBRIT £r 8 W Le F T SRR §
© 9T Le W, W £r F T TR §

d) ,iBRIT Le W, WA £r F T IR T

In your laboratory you trace the path of light rays through a glass slab for
different values of angle of incidence (£ 1) and in each case measure the values
of the corresponding angle of refraction (£ r) and angle of emergence (£ e).
On the basis of your observations your correct conclusion is :

(a) «11s more than Zr, but nearly equal to Ze
(b) ziisless than Zr, but nearly equal to Ze
(¢) 1 1s more than Ze, but nearly equal to £r

(d) ziisless than Ze, but nearly equal to £r
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33. = fou U oM@ H WE 2ifhd w0 FH H T2

34.

31/1

() 3R ce b) <A FR D

© i, ze 3R /D d sr, ZA X D

In the following ray diagram the correctly marked angle are :

(a) «iand Ze (b) <A and zD

(¢ A, Zeand «ZD d zr, ZA and £D

I3 B Th o HIfeqH BRSNS FEiqe Juf Fiek § fau T udHigs s 2

¥ foamar 1 T @ gea Beoi &1 geEl oAy, R 3¥ v ¥ M 9
stfufsran o fawa ® 19+t e g% # fae =ifeq) 2R arett Tt stfufsman
&1 TEEHS eI ff fafay |

A student adds a spoon full of powdered sodium hydrogen carbonate to a flask
containing ethanoic acid. List two main observations, he must note in his note
book, about the reaction that takes place. Also write chemical equation for
the reaction.
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35. I BF A T TH 9Tl oI S % fafvel aXul i HHAR <9 arel Rt 2
TR 1 Y101 X @ &1 39 gfwan o1 9 fafgn) S o 98 Ferr 1 €,
W Ifad FH H, 3G Tigel M|

A student is observing a permanent slide showing sequentially the different
stages of asexual reproduction taking place in yeast. Name this process and
draw diagrams, of what he observes, in a proper sequence.

36. 2.5 cm SR HT HIE T 10 cm BIHT U & HHl TG oG & Fh1fv1ah &5 ‘0" 2
Y 15 em U W feor@ B a7 a1t gfafers i feafa siR 99 9@ &6 & fag
fortur o EifaT| 39 3@ | Yahiforh s ‘07, & Wiy F e Yfafars =

SdTs Afhd hifT |

An object of height 2.5 cm is placed at a distance of 15 cm from the optical
centre ‘O’ of a convex lens of focal length 10 cm. Draw a ray diagram to find
the position and size of the image formed. Mark optical centre ‘O’, principal
focus F and height of the image on the diagram.
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